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Math 9
Lesson P2: Adding & Subtracting Polynomials

There are several different methods that can be used to add or subfract
polynomials:

0 Algebra tiles

0 SymbolicoIIy/Horizon’raIIy
0O Vertically

Example #1: Add the following polynomials using different methods.

(3s?+2s —6) + (—s?*—2s+1)
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1. Write the addition sentence modelled by each set of tiles.
Use the variable x.

2. Sketch algebra tiles to model each sum.
Then write the sum.
a) (—5w+8 +Uw—-3)= 2w+ 5
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3. Add horizontally.

a) 2r—=3)+Gr—-1
=2r—=3+3r—1
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b) (7h? — 2h) + (—4h? + Sh — 4)
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4. Add vertically.
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5. Find the perimeter of this triangle.

Remove the brackets.

Group like terms.

Add the coefficients of like terms.
2+3=5 and-3+(-1)=—-_4

¢) (—22 +6y— 1)+ (22 —6y+5)
29T oy N 29 Loy 5
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b) (—a% + 4a) + (—3a% + 2a — 5)
—1a% + 4a
+ —3at+2a-5

-Yet tba -5

Perimeter is the distance around
a shape. To find the perimeter,
add the side lengths.

Remove the brackets.

Perimeter = (25¥3) + (542) + (2545 )
=253 3 S22+ 2535 Group like terms.
2SS +S +2S £ 4249 Add coefficients of like terms.
= 9SS ¥ 10
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OBJECTIVE 1—c: To add polynomials.




Example #2: Subtract the following polynomials using different methods.
(3s2+25—6) — (—s?*—2s+1)
First, rewrite the subtraction as addition (keep, change, flip). Then add.

0O AlgebraTiles

) l&e= - FABS°

\c_n,cl> C“hf\;)c \’/- P'rl)
MrrJoo22® 4+ (0n®
DOPONEEET - [Hste v 7|

0 Symbolically/Horizontally
(282425 - () - (‘_, =% e a4 '3

- (3t r 25 )t [Ty 25— )

2 4
= I4s® 4+ Y L )
0O Vertically
Lad 5 e A
4 Laz + 29 ~)




3. Write the opposite of each term.

a) -9 <

4., Subtract.

a) dp+1)—(p+10)
= L (:,;&] —(p"{-“)}

b) 3h? + 5h — 4) — (h? — 4h + 6)

= 3%y Shh-Y - (hz ~U~+ )
=253+ 5bh-Y+ (hZ4r- L)
=3k?}y SR-Y=Ix* t HA -5
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b) 3r - 3r

=4p + 1+ =y = NEA
sRpap ri =D

i

Q 2 +2s° At -+t

Remove the brackets from the first term.
The opposite of pis: — |7

The opposite of 10 is: — 1O

Add the opposites.

Remove the brackets.

Group like terms.

Add the coeffidients of like terms.

Remove the brackets from the first term.
Add the opposites.

Remove the brackets.

Group like terms.

20 - ® 15kt Y - Y- e Add the coefficients of like terms.
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(4g2 +3) —(Bg — g% + 3)
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5. Check each solution. Identify any errors and correct them.

a) (7x2+3x+7) — (3% — 4)
=72+ 3 +7 - 34— 4
=7x2 -3 +3x+7 -4

b) (3a2 — 2a + 4) — (2a? + 3)
~3a2— 2a+4—2al—3
=32 ~-2a2~-2a+4-3

=4x2 + 3x+ 3

= &2(\{/2& — 3)

7x2 +3x+ 7 — (3% — 4
= D24 Zoey = B 4
=TIxt-3x2 4+43x 4744

M ¢ 3x + 1

(352 —2a+4) — (25.2 +3)
= Baf S B 2 =&
=202 -2a0%-2a +4 -3

= C/‘\z — r;)—f—"\ + \
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OBJECTIVE 1-d: To subtract polynomials.
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What season Is It when you are

on a tmmpoline.
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Simplify

1

- N £

(3x% +4—2x) + (242 —x +6)

25¢2 4+ 2%x%%F~-2x +\D

(5x?% + 15x —4) — (3x% — 1+ 7x)
2T 4+ ~ X

2.~ '0“')4

(11 + 3x3) + (4x? —2)+3x

25 .,‘L(){/, b3 4 9

(3 —4x+7)— (=2x3 + 6x + 1)

3"37'?)1 y 1+ 23 - L - |
2x3 - lox + b

(14x* 4+ 8) + (4x — 2) — (12x —-1)

G+ 5 y(!\, - 7 '—-|’7 Z 4

2
2> 4+ 4yx +7]

4x — (— 4x +11)—(2x+x3)+7x
ST + 90 M- 2%~ a2 X

5. > F G i\

(6x% — 7x +2) + (15x +5 — 4x?)

D e e 2 .
L 3 :‘ xX. 4+ |

(—2x% + 2%+ x—3) + (523 +x* =x)
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3x3 +2x%—3
3x3 4+ 2x% —3x + 10
3x3+9x — 11
2x2+8x+7
322 + 2%+ 7
3x3+4x%+3x+9
2x%+4x+7

2x2+8x—3
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